1. Question: IRAT ST TYF FITT RFA ‘W 97 AT FF-

A) TTF AT TRIGER

B) TTF AP SEITET
C) T TR O

D) TF=SW A

Answer: A) TS 2T TRIGER

Explanation: 5X15% IR STF TN FIHTF/FT0] FT/ SAT F| - aff IR NfReers anfa
TR AP oIS e | - T, 2825w TE S0 W (@IS 1S WAE SEN (@ a6 nfIma
FE|

2. Question: T TGN’ - 97 IAITHA "THFG" FNHF ToToT-

A) MiFTe SSIF IRAN A

B) 0T S[TeTe
C) ST i ifzres frmam
D) SeTaeT

Answer: B) 073 s[o T

Explanation: - SX1FJ SIS (T FIEF A TAR6!| - 92 FII5M6 ARTIST Toa] FES NI SIFEA
RN | - THFS! Ab© I FFIe 27 Su8 | - i [Favre & 37 wfers srem sfig s

9T FTEFI|

3. Question: SR HAFT T FFF S 23-

A) 5185 ST

B) L83 ST

C) S &o ST

D) Sv89 NI

Answer: B) Y83 NI« (Option B)

Explanation: S3FEF SUIF, [R@EANTT 3 (TGO A3 e ow@IEar *afas - a3 af@sE a2

SN e SFAFA v | - A5 FYH TR0 2T sw8w | TNz IRTT ST 8 Hifzey s, ©.
SIECKGEE]

4. Question: SoNGfT N ToTIF NFT-



A) ST 8 TARCT
B) g 11 SO
C) foa o g7
D) TSt @ ST, Te1F A& (T

Answer: A) 5T 3 TEARCT
Explanation: - IR ST 439 FOSE AJIHS TR T, I THF 79 RHE I FI7© 0@

AN, AST AT T AT IF| 97 TONF 569 FFF HI@F 770 NfEe | 8T 350 59
AILSTEF TARCTRR T SN |

5. Question: (I REF T NFF Al N3 617, ©FF 7 23~

A) SIS
B) s

C) e
D) ¥335

Answer: C) Jalga

Explanation: - SSH wee] 8 NJee] IFJS R I &A8| IS *FF TN T TS (IS 4
Td TOOId FHF FIF, (SH THIEIOF T$2 AF FE QEe N9 8 AET | - SATF IFS 20
T 7 (ARQ H1F MAF 93 ©1F F&@R A 9376 Fu 57, CTHN3 9 79 Fo SHIH® 27|

6. Question: "SIAF T (I AP JE-BI@" - TNRAG [NHG AFSET FNT TSI I1F -

A) [T 6!

B) FIf¥elt IF
C) a0 SIS
D) S/Feb% ¥

Answer: A) JPTIH tFI9©

Explanation: - SIgaN3ie $1(FTH I BFecw IASMFI| - 92 FIEF INF biFa- FEM:E,
S, Ay, e, Saat o 3o - SIAF N (T AE G S| BT SNFuTA57eT FIRA
ofFa 5aT TeAT SfF|

7. Question: T ST (Y TGS A0 = IR ST AT FT A ®=-

A) (BfRe



B) (&F1F
C) ¥a9®
D) Jrife

Answer: B) (6319 (Chair)

Explanation: sTgf5e <141 : S1E, SEfe, ST, Fr8, 89, §1fF, TS={o, Mfw, s Teyf|
T3 TRAT ST I, AIF-T CIAt

8. Question: "TINS =6 T -

A) 73R

B) G’
C) FHYET
D) I=24If}

Answer: A) 3%
Explanation: =@ sTa=ifas o F5foaa 3291fR 271 (T - - Mfot® Mfét® (X Joq= TSNS | 95T

ST SUIRAT - - RISTRING, FTATPI, GG, SIS, (FTABE, IR, (W@ | (- IRAT SR
FFFA- FIT 3 T CINF (@16 T2

9. Question: IRAT ST T&d TR [AEFS IF6 AT (A~

A) %9
B) *nfer

C) oo
D) 9= 9
Answer: A) R%©

Explanation: IRAT ST T&d TR ATGLH-AqT89 (VT | & 3018 el fIfemer e

10. Question: 4T A IRAT SF T4 W@ SIS FAT I3~

A) R ©TsT

B) =5 ©1sT
C) 515 BTt
D) fee ®1st

Answer: A) 72 BTT (Two parts)



Explanation: BCS_1.PNG

11. Question: IS, "TZIETT, ‘THGS T - TGf© =T ToTeT-

A) a5 SIS AT

B) AT St (G
C) (3T 3TTE™ A
D) (37T S HF TN

Answer: B) A353 S (AT

Explanation: (TIXFIW o%dE T2 AFS SIS RIFEF 3 (T | - FAF0F ©F Aode gfo TR
izt - "R Ry 8 AAte | W9 9fod Ferrfs Fa1 @RE - (@ @EAE | - 817 S e
AAFTE A - 2B 3 A |

12. Question: "R JAAT FNHF ToIOIF 13-

A) SIfersy RIS

B) S (2T

C) (STIETI (1%

D) TE&Y AT

Answer: A) SIfers (RICT

Explanation: STTe STSIEE Al FIT5= 601 HaFY 92| Af6d IF1e 27 $»88 NI |

13. Question: FTGIQ @ S [A=w-

A) TS +3Q

B) 3G+ 3R

C) 0 + 3

D) X0 + &g

Answer: A) IS + 3g

Explanation: ITSaRI + IR F, 5, 5, ©, T-97 N& TR ATFE CTSET INFE 51, §, G (T, G,
2| TS THRAC TS THAA T 557 J& 271 T ©FT 8 %7 - T AR APW

14. Question: ‘TFIT [AEHE IF5 (AT TANN-



A) FIT674 (o
B) §Sf6 o7 TN
C) THwa 75
D) =37 (b1

Answer: A) F164 (5

Explanation: IR 1w b Fifox 536F 8 Amsmerd s1afans 2E T (BT - =91y (BIgSE
MIRfSTF TAa™ | - 'NIIEF ATATOT (SFS! AAFT FFTT - vHov), 4 STy/ITH ToaF fofer o
tfere Sfex T@s T -

15. Question: "ATNGBT @F =T SATAG IRAT ST AT®-

A) TY BT (N

B) HAIY ©1FT (¥

C) faf 11 (¥

D) J&fd ST (¥

Answer: A) 39 ST (3@

Explanation: - IR ©F F13%w (3% SRR S 7 - AW, 517, 1S, 1, A, AT |

16. Question: 338 W (T FIFFH IR IFCCH T (TIRA-

A) T S
B) wIzaw A%
C) IR AT AT
D) 331 arzem

Answer: C) ST Sfoe 7oy

Explanation: BCS_2.PNG

17. Question: SFTRTS 5T SSTBE AN FHNRS *IIT NS 95 PSS SIS AT

A) TRIREF
B) W=z
C) SRIAT
D) 39 J3®



Answer: B) SfaZ%

Explanation: - S[ATAIF &R AT S5 7o - 3 28| ©1@ I3 ST o] |

18. Question: '(F& A, (FT SA ST, BRG] T6 f6F I 92 Rf&H AT 9FoE@T (@2/-

A) SIS FTA1R
B) fyraTe \1R
C) J9e IS
D) T T

Answer: A) SIS F112

Explanation: - ‘(5 ST, (FG ©N(J S, ©1R(0] 811 [OF e’ -STH61 T60] ST TA6 S
GIGCE)EY

19. Question: 'IFT TR N (AT

A) fergers
B) *T&ETSH
C) TS
D) S5

Answer: C) ao7%
Explanation: SIf%a SSICT - TS AFH ASNX - TOTF AFH NEEE - TATF F0S (F0er) = (©rd

ST, ST (fSfel BT8O wifre- a1y H1FR) | {(SIT AT WFw) 5 + AfF + I (IVG)} ATHF
(fCTT) = SINTHS; A@RT| B: IRAT IS ASHH |

20. Question: 'THFS [TV (N) fET aFs A T G e 956 Crg-

A) fr
B) Sfbe
C) (Af=
D) &

Answer: D) N3

Explanation: S J157: (I ANE 9316 M@ F67T (ST 432 a3(6 3@ SNt {537 () s, o
EECEICIEGH



21. Question: 'Y (FF3 AR FYF (T AP 92 (WCTF Mo A6 TATH (6 A1fe’ 1 - FR@ a3 I

A) FITA STFH
B) (TR ST STslTel
C) forsfter=yy Sef

D) el a1 13
Answer: A) FRGAY 5154

Explanation: "N (5@ M= WY (7 9% SITH (MCTH A6 ST (M7 =T Y77 A6 AT 51300
5| TMEE STHedl, Mo FaT, FIRE-3T (TATE ©1F a51 T (A Gre2 Mo Mo

22. Question: The sentence with correct punctuations-

A) Maria my student is, on leave to-day.
B) Maria my student, is on leave to-day.
C) Maria my student is on leave to-day.

D) Maria, my student, is on leave to-day.

Answer: D) Maria, my student, is on leave to-day.

Explanation: AT =7 30 SfefFe 7 AF, ©F 719 3 SfefFe ©f qEE TER T /370 27|
®12 punctuations A7 fYIENTE, F) Maria, my student, is on leave to-day. I 3|

23. Question: The antonym for ‘Inimical’-

A) Hostile

B) Angry

C) Indifferent
D) Friendly

Answer: D) Friendly
Explanation: Inimical (Adjective): Meaning:- 1. Tending to obstruct or harm. 2. Unfriendly;
hostile. SYNONYMS:- - harmful, injurious, detrimental, deleterious, pernicious, damaging,

hurtful, dangerous, destructive, ruinous, calamitous. ANTONYMS:- - helpful, advantageous,
warm, friendly. Source: Oxford Dictionary

24. Question: The synonym for 'efface’-



A) Improve
B) Exhaust
C) Cut out
D) Rub out

Answer: D) Rub out
Explanation: Efface (Verb): Meaning:- 1. Erase (a mark) from a surface. (SofS®1s 98 F471) 2.
Cause (a memory or emotion) to disappear completely. (f4%6% FaT) SYNONYMS:- - erase,

eradicate, expunge, blot out, rub out (53T @\?ﬂ 1 (%), wipe out, remove, eliminate, excise
ANTONYMS:- - preserve. Source: Oxford Dictionary

25. Question: The best passive form of the sentence: 'We don't like idle people'-

A) We are not liked by idle people.

B) Idle people are not like us.

C) Idle people are not of our liking.

D) Idle people are not liked by us.

Answer: D) Idle people are not liked by us.

Explanation: I35 present indefinite tense 4 sf5®1 ©1R a7 passive form: Sub + be + not + v
(p.p.) + by + obj 93T SIfdF TBF - 1) Idle people are not liked by us.

26. Question: The correct sentence of the followings-

A) The Nile is longest river in Africa.

B) The Nile is Longest river in the Africa.

C) Nile is longest river in Africa.

D) The Nile is the longest river in Africa.

Answer: D) The Nile is the longest river in Africa.

Explanation: Nile - Fieiaw| (I (F1 Fatd A6 & The INE| Joak The Nile 5iféF | aw=rGT
longest superlative degree (T a3 ‘*1321‘6 the 51| @12 ) The Nile is the longest river in Africa.
T AOF|

27. Question: Browning was the composer of any of the following poems-

A) Two voices



B) The Scholar Gipsy
C) Oneone
D) Andreadel Sarto

Answer: D) Andreadel Sarto

Explanation: Robert Browning's famous dramatic monologues are — - My Last Duchess -
Andrea Del Sarto - Fra Lippo Lippi

28. Question: The right word to fill in the gap of the following sentence- 'Give her a
telephone number to ring she gets lost'-

A) whether
B) perhaps
C) unless
D) in case

Answer: D) in case

Explanation: (ST S5 ST TFIFT JAHT© in case I 2|

29. Question: The synonym of 'Franchise' -

A) Frankness
B) Utility

C) French

D) Privilege

Answer: D) Privilege

Explanation: Franchise (Noun):- Meaning: 1. An authorization granted by a government or
company to an individual or group enabling them to carry out specified commercial activities 2.
A business or service given a franchise to operate. SYNONYMS:- - warrant, charter, licence,
permit, authorization, permission, sanction, concession, privilege, prerogative. ANTONYMS:- -
disenfranchisement Source: Oxford Dictionary.

30. Question: The opposite word of 'sluggish’-

A) Slow
B) Dull
C) Heavy



D) Animated
Answer: D) Animated

Explanation: Sluggish (Adjective): Meaning: 1. Slow-moving or inactive. 2. Lacking energy or
alertness. SYNONYMS:- - lethargic, listless, lacking in energy, unenergetic, lifeless, inert,
inactive, slow, torpid, dull. ANTONYMS:- - vigorous, energetic, active, animated. Source: Oxford
Dictionary.

31. Question: The correct spelling is-

A) Humourous
B) Humourious
C) Humorious
D) Humorous

Answer: D) Humorous

Explanation: SIf§& @46 T - Humorous. Humorous (Adjective): Meaning:- 1. Causing
laughter and amusement; comic. 2. Having or showing a sense of humour. 7T 37~ TTHF;

AN, IEATAF; AT, TFeF |

32. Question: 'Equivocation’ means-

A) A true statement

B) Equal opportunity to get a job

C) Free expression of opinions

D) Two contrary things in the same statement

Answer: D) Two contrary things in the same statement

Explanation: Equivocation (Noun): Meaning:- The use of ambiguous language to conceal the
truth or to avoid committing oneself; prevarication. FRAT 91~ FAF o Y T 5 TIF; IFEIQAT|
SYNONYMS: - prevarication, vagueness, qualification, ambiguity, uncertainty, ambivalence,
indecision, doubt

33. Question: When a person says he's all in', it means-
A) he has got everything

B) He has arrived
C) He has finished packing



D) he is very tired
Answer: A) he has got everything

Explanation: All in (Phrase): Meaning:- Exhausted, Very tired. IRT 9%~ Sre7a 6

34. Question: 'Bill of fare' is-

A) a chart of bus fare

B) A price list

C) A valuable document

D) A list of dishes at a restaurant

Answer: D) A list of dishes at a restaurant

Explanation: Bill of fare (phrase): Meaning: A menu. Bengali meaning: JAT@1feI<T; &9 Ex.
Sentence: Most hotels and restaurants in the town have put on show their Christmas bill of fare
35. Question: A 'bull market' means that share prices are-

A) Falling

B) Static

C) Moving

D) Rising

Answer: D) Rising

Explanation: Bull market (Noun): Meaning:- A market in which share prices are rising,
encouraging buying. Ex. sentence:- The rules for success in the last bull market do not apply to
this severe bear market.

36. Question: 'Blue chips' are-

A) Securities issued by the government

B) A list of dishes at a restaurant

C) Industrial shares considered to be a risky investment

D) Industrial shares considered to be a safe investment

Answer: D) Industrial shares considered to be a safe investment

Explanation: Blue chips (Adjective): Meaning:- 1. Denoting companies or their shares



considered to be a reliable investment, though less secure than gilt-edged stock

37. Question: 'Razzmatazz' means-

A) A musical instrument

B) A well-planned programme
C) A musical drama

D) A noisy activity

Answer: B) A well-planned programme

Explanation: The word 'Razzmatazz' means noisy, showy, and exciting activity and display
designed to attract and impress. Razzmatazz 1% CTIRTETsYef, &6 |

38. Question: 'Blockbuster' means-

A) A large solid piece of store

B) A device to cut off a person's head as a punishment
C) Something that makes movement difficult

D) A powerful explosive to demolish buildings

Answer: The correct answer is:
A) A large solid piece of store

Explanation: Blockbuster (Noun): Meaning:- 1. a very large high-explosive bomb 2. one that is
notably expensive, effective, successful, large, or extravagant 3. one who engages in
blockbusting Source:- Merriam-Webster Dictionary

39. Question: Any one of the following pairs are literary collaborators-

A) Shelly and Keats
B) Yeats and Eliot
C) Pope and Dryden
D) Eliot and Pound

Answer: D) Eliot and Pound

Explanation: - The literary friendship between Ezra Pound and T.S. Eliot is a great example of
a fruitful and influential collaboration of two American poets of the twentieth century



40. Question: The correct sentence of the followings-

A) A new cabinet has sworn in Dhaka.

B) A new cabinet has been sworn in Dhaka.
C) A new cabinet has been sworn by in Dhaka.
D) A new cabinet has been sworn in in Dhaka.

Answer: B) A new cabinet has been sworn in Dhaka.

Explanation: Swear in (verb): Meaning:- to induct into office by administration of an oath.

41. Question: 'To read between the lines' means-

A) To read carefully

B) To read only some lines

C) To read quickly to save time

D) To read carefully to find out any hidden meaning

Answer: D) To read carefully to find out any hidden meaning

Explanation: To read between the lines (Phrase): English Meaning: Look for or discover a
meaning that is implied rather than explicitly stated

42. Question: The last word of the proverb, 'Handsome is that handsome__.

A) works
B) thinks
C) says
D) does

Answer: C) says

Explanation: Handsome is that handsome does (Phrase): Meaning:- Character and behaviour
are more important than appearance.

43. Question: (1 FuON AT ©, ¢ 3 b T OTT FACET ST IF b?

A) a5
B) 8%
C)wes
D) vy



Answer: B) 8%

Explanation: ©,¢,b 93 .58 = vo 47, Fuod WA 2@ = wo + 5 = ©Y

44. Question: 1376 FIOF HIETR ES AMESTG ZIETH WHTH © 8¢ ZFET BT RIS 41 T RIS
LRAMF (7t (216 FER (6 3089 I 2E&?

A) © 89
B) b &
C) e84
D) 8 8

Answer: B) b 8

Explanation: &f3, (=16 53918 5 § 35 IG (AR 0y 0F MIE pPa1d T=i=(0F+F) = 8F b
MOIT TIE ZRENOH & (G FFET (6T 83 TE 2|

45. Question: 1316 AgHIFe (FEF Faw v8 IS Agsioa T[T 2@ ghF 877 rFfe
I (S 3 SIS R B (s $e?

A) So SIS

B) S ST&

C)ass

D) 48 5/&
Answer: B) b3 518

Explanation: fagaid (Fa%e =[ s+3 x QfF x 7] q1, 18 = 5+3 x QI x 53 GA=(8x3)+43 =48 &

46. Question: x-[x -{x - (x + 1)}] 97 J«F F©?
A) x+1

B) 1

C) x-1

D) -1

Answer: A) x+1

Explanation: x - [x - {x - (x +1)}] =x-[x-{x-x-1}]=x-[x +1]=x-x-1=-1



47. Question: AB 3 CD WA@Y '0' fF e (wu F3ET fa (F1 snfifes Ife 7% 2@
A) ZAOD>£BOC

B) ZAOD=Z£BOD

C) £BOC=Z£A0C

D) ZAOD=£BOC

Answer: D) ZAOD=4£B0OC

Explanation: 736 ST (7 T85F (2% FAC [TTS (FT097 T S99 271 LAOD = ZBOC a3
ZAOC = ZBOD

48. Question: BIFT 8 BB 9% 72 (F CH o (WS A TBT AF6I (B AF CHH (WF I GO
@ T@E FE | T (EER TAA SIf6® 5 A3R SRITIE (FRI© AVF (BT ¢ Feb] STHT 6T 9F Co3
(AT AT FE AN GO (TRIET 7HF IF6T (& FI6T (EFEF (7] "MI?

A) v

B) 3

C) 5

D) so

Answer: B) 53

Explanation: 336 CoX (Y@ I@T BF FEF T CH7F G (T ToF ¢f6 (FET (77 "M a3 ¥
fS (& T (A &2 | JoAR (6 (B = ¢+@ = dofb

49. Question: T WM FO? bY, 39, __, 9, 5|

A) Y

B) 8¢

C) 53

D) »

Answer: B) b@

Explanation: b5 +©=39,394+9 =3, +9=19,9+9 =) VAT, [TF RV = >

50. Question: Tft ST S8, AEISHT a3 AL INFF b3, Yo I3 88 | AT 7f6 F©72

A) Sob, 488



B) 5%, 88
C) 388, 0%
D) 488, 208

Answer: B) b5, 58%

Explanation: &g, ‘;{%W‘{@ =98 DY SIX- DYy = bo .U X-y=CQ ... (1) 938 S3Xy = 388% Xy
=308 (x +y) = V[(X - y)2+ 8xy] = V[Q3 + 8%x208] x +y = 3D ... (2) X =59, y = b3 .". RAT G 188 8
R08

51. Question: %5 (TATH STRATF ST S S| TS (AT 3 BTN SIS 0s | AT fF AT (17
(P Sf=T@ 83 R

A) v T
B) & O™
C) v T
D) 8 am

Answer: B) & I

Explanation: 93T O 8 (AT Se*Tle = wzb | Yol (N6 B Se=Te = v+ = 8 BRI (e
SO = ©/8 x S S = b3 S| AT AR ST SIS = /8 x S S = 8 S| AQeA 3T (AT
fSPM® 2@, (S3+F)/8 = 8/S T, SI+F = S T, F = -5 T, F = 8 I

52. Question: (125/27)-2/3-29 33 T ___

A) Sxa

B) @/ro

C) @/x0

D) /3¢

Answer: D) /3¢

Explanation: (53@+39)-(3+9) = (39 + SQ)(}+9) = (© + ¢)VX(+V) = (V + )R =D + ¢

53. Question: Yt THER & HfFA ¢N 932 8N, ©IH % =TT Fo?

A) oN
B) VsSN
C) SN
D) V8sN



Answer: B) VsSN

Explanation: @f& = V(p2-q2) = V[(5n)2+(4n)2] = V(41n2) =4 1n

54. Question: x+ty =093 2x-y+3=0 Wﬂ‘iﬁwm I?f‘{lg\':) &1 $E?

Answer: D) (-5, ))

Explanation: x +y = 0 433 2x —y + 3 = 0 ¥NF& 6 (A1 FE MR, 3x + 3 =0 x = -1 x- 97 A 5F
THFAE I TR, y = 1 FINRAT GO (-5, ») e (@7 7@

55. Question: f(x) = x2 + 1/x + 1-37 I (FEAG?

A) (1) = 1

B) f(0) = 1

C)f(-1)=3

D)f(1) = 3

Answer: C)f(-1)=3

Explanation: f(x) =x2 + 1/x + 1f(1)=1+1+1=3f(0)=0+o+1=wf(-1)=1-1+1=1

56. Question: I x2 + px + 6 = 0 95 3 Y6 N 27 932 p>0, ©F p 97 M F©?

A) 48
B) 0
C) V6
D) V24

Answer: B) 0

Explanation: WWWI@, b2 —4ac = 0 T 64T, p2 — (4.1.6) =0 or, p2 = 24 or, p = V24
[ SoF 1@ T 3]



57. Question: "G RET AF HFEH-

A) STRSTETR STt

B) (%16 337
C) Iw3F
D) (=16 F*b1

Answer: D) (%16 S5

Explanation: - T567 X1 93 96 (RI6 FETTEIF| - 936 =6 JT 936 (MBI 2T IR
FfFTe FPISHIF I T/ STFEN | - TG 93 (A6 S I (o7 4771 20 5 IS ©f 7
LRI

58. Question: IRATCT MEGTA § -SINF JOH GINFT 20

A) ERCOI et
B) (ST o1
C) ST Jor

D) Brafranat 3o

Answer: B) (SR« 519

Explanation: - ©-23f® S5 IRANCT oo 4R SfesT (w1 T | A X - SR Jora
TRTGTIA - ERCHITARTER CTAATR - HTH JAG (o |

59. Question: IRATWCTT TAGT ToF A 50 Z[EF AT-

A) CoRferaT

B) TG

C) AP EAMNG

D) IRTRTH

Answer: C) F& G

Explanation: IR TIGE SSE T IRATHT I SINFETO | - afF 7251 (ST (O @fer
SAGTE AMF© | - SET, IRTEHT AF6 3T 97| TIN: TP (S FIINMH SFINR0 |

60. Question: 'TAE IF (] AMOT' 97 AA-

A) 9Ff% (¥ T TS
B) 93 anae gfia



C) GIFT (TN (ST AOSH J1
D) IBIEISIES A6 AT J1

Answer: B) 343G 194 ©f¥= a1
Explanation: (TIATE 919 (A7 S8 (Swatch of No Ground): (6 1S (T ST Y APhed Yﬂiﬂiﬁf

JFARFT A1 FIfFATS, I IETHEET TN RITFSIF Afewy FER| - A6 TI-a5a IACH
SEeT SIAfFe | S5 A IS aft AfEfee |

61. Question: A6 FTFEH [TF@ TS STFI T (Fo! [ENRT T SRE@RE, ©IF 15~

A) FTe fafns T3
B) Frew fagse sra

C) Sy AT
D) e I &t

Answer: B) 91311 E@?{ 136

Explanation: 5131 T8 (T8 (WITe Ta TEASTE STF A18Y AICIT] 933 0 S TR I8
FRMREN | 93 FPRE T (N o] @ @ 393 81 fa1f{e 21ee qaie [{57e e |

62. Question: T ARFH 6T FNAGF T[T FIT FNOTNET TNHFT FHFIOF F =[O A
5]3\9’8[?

A) e
B) oo
C) %%
D) ¥

Answer: B) ¥ (Third)

Explanation: New International Economic Order (NIEQ) $»98 SR & (37 SfOSRE SINTIl fI¥W
TS RCE I 3e =3

63. Question: F&7 AT e AFoE N2} TSTCEF J-

A) OTf&F3T
B) feafaae
C) T&E I
D) FRMIF



Answer: D) FIS3q

Explanation: &7 A 3T¥ a6 ITe@ F9928 TOTOEH 91 FORI | - ATS - 39,38,200
F1f35.f31 - AT - qF ST - AT AT - (Bf30

64. Question: (TG fYFCTS SR ZF T AT FEF o6 2I?

A) REIE, S HIET
B) F1ET, Y90 NI
C) e, S99 ST
D) (SIS, S LS ST

Answer: B) $1IET, S»90 AT

Explanation: $>¢¢ ST 1753 (REATAT) SCITNS AT (6 AR Sneareay 1 457 (NAM)
ASfTe T S5 LS T APIAFSIE FeHFM6 TGO TS FE| - S YD T TEF JENANSIH FSETAT
(G S T3 T SACH Aefoe 271 fGSIT FEHa $» b8 T Fr1Ed FRE© Io© 27| -

65. Question: S33¢ ST fACH MNEITSH (FDTET 51 T FSECIT IF(6 12, OIF A1

A) 3R frene 12, Jefwaer
B) S{1fE 2 124, FIHATST
C) HIT T 124, TR0

D) CoI@E Mfaw =g, FIT Qe

Answer: A) 31 e =g, TEfae

Explanation: Restaurante Botin, a cozy eatery in Madrid, Spain, was founded in 1725 and
holds the Guinness World Record for being the world's oldest restaurant.

66. Question: 7 erNFYe My afefe 2T afs I=E=-

A) o ST
B) ©s 76

C) wo afge
D) es (3

Answer: A) o) (I

Explanation: STe:E (T @S0 QST M. - 0 (7 : g Srnae Was - o 716 : g



SRS A3 - 39 (TE6FF : g 746w 3 - vo @177 : g 4w fwasy| (enya: sfesig
RIGEEIE)

67. Question: ¥ JFAZE ' oV 97 o116 ST (77 (I [TB-

A) THATSS
B) swfifa

C) ST
D) ™

Answer: D) %1 (France)

Explanation: - 15 s %&b S JSANEA THTOR Soo T2 IS TSI JFARE o3I AT e’
ST (F; T TSR TG qF OIF A58 | - SFET d3 (04 FEMET GHoiaF e

68. Question: AT (T (WG SSREF STuSTy -
A) T

B) SRIETIS

C) f&&ar

D) =™ 26 JThoe F47 T @

Answer: C) f&&a1

Explanation: 36 Jifee $a7 2@®

69. Question: P IAFFT TGP T FoT-

A) FEH TS

B) ST 93 TR

C) "TES W FFTH

D) 1E AT w5 A6

Answer: B) S 58 SR

Explanation: - Sf3 SIfef13 (SATTA SToa 27 b b N fIoTd @ | - FES FIFE © FIOR
ST SN SAfEAf51 (ST 67 27|

70. Question: TETSTA ST MY XS FTa (weT ST foeer?



A) faGw

B) T

C) faSf3ernTs
D) SICEferT

Answer: D) SICEferaT

Explanation: s [ S5y 1@ s=I1sE@a aFf6 T A1g1 - a6 STIerT sRIeTa Gren@ <A i
SAFS | - TEASTF ST TN [ Sffer AT ferag ordie fizet | SICEerRT T v AR afdpenseT|

71. Question: AFF (PTRR APBIOTT 3T (91 AR (-

A) Sd90 HIET
B) $9% ST
C) »98 ST
D) 99 NI

Answer: C) 5398 ST (In 1974)

Explanation: v»9v WW—W{E(Yom Kippur War) = {%W{WW- Y IRFF - ¢
SAETEF, Sd9© W - ASTEN THTR - TAFT 93 e 8 FifFg (@ =8 FEHM6 A= (7|
o BT - AR S o BT 8 FIET 35 L9 TETF Ja 10 AT I @ M8 ST b
AT, 5299 S 72 f7F (AF FHIET AT F|

72. Question: (I (BENELUX) Fe10® (J (WIS (1H1I-

A) oa, F98F, T s

B) (6% =STed, (NS, ST

C) RTG, AR TS, H1ST
D) (R, (FUIRTTTS, ST

Answer: D. (FTRI, (TATFTIS, RSl

Explanation: BENELUX 2CT1 935 Si%feid arf(afes (G| - 97 79 2¢T- Belgium, Netherland
and Luxembourg Economic Cooperation|

73. Question: IRATWCT (GIFTF T ST THRIA-TAF Y IS T SFNT (IC7-

A) IS

B) IRM=EAm
O RCEELIME]



D) (snTeTw
Answer: A) JTFTIT5T%

Explanation: T[T (SIS TR TH] T ST BRI - S9B3 (@ $9%9 AT JE REATS
™ 3 SR IVE HE IR O3PS o=y AHIG© 2@ I I T[] Fard 5B 271 |
A IRAGCTR AAoa, FTIFET SFINRG 933 IRATAGI -

74. Question: Sva8 NI GIFT A AfH NFIFR FAIF S5 FAT AfF FIIFR FHFH F1fw 33~

A) STHIEH
B) NISNE
C) (TR
D) SIwa=G

Answer: A) STAaHTG

Explanation: $%98 I G131 "R *MNfel TIIAZ 2 SMAINT6 JFE M| - SOA=GS 92 IFa6
(e BIFIT N STAIAMRT T4 IF9 | - HIFIT AT THIARA [FolF 5957 FPe T NEIRE|

75. Question: BRI IG FI6AT 3 (VG FI6A] RES @G AF(6 TP T30 7?2

A) I
B) STM=HTG
C) =TSt
D) 5331&1F

Answer: C) @75t
Explanation: - (=16 F1541 26T SRTed GIF1E AF16 J=e 37770y foywfe | - afb oo avix SiE 7

G SFISES R JIFH T2 (T AT | - JHT I ST A S b8 e o afe
fersfrer d@aT1 - afoa =MeTR =2 s fAfife 3T F0aT (suss ) SFf¥e |

76. Question: 'FINF COH I 315" - 9% FrotNsfE 5= FfHe 2@ =-

A) NFT3
B) z12f®
C) fe@ea
D) sf&ansar

Answer: A) JF13



Explanation: faSI¥ fa@a ¢o a2 TfE© S»»¢ N ST SFASTT 'FA1F o 91F 577
ReeNT® e 271 TSN: AATREIHSAT 917 fFbiiaT|

77. Question: S8 AGANDBS §f& T3 510® A e-

A) S HFIME, S2¢Y
B) © SR, v>¢8

C) b (3 v2¢¢
D) 8 afsd, v28»

Answer: B) @ ST, b>¢8

Explanation: NATO a7 sJ<f&* North Atlantic Treaty Organization 31 S8 SGeIfGF K 53|

78. Question: SUTFGE AFN@ A-AFF AT (-

A) BT

B) ST

C) YRS

D) ffermea =1f Tifee a1 2@

Answer: A) TERT

Explanation: 36 Jifee $a7 2@®

79. Question: Persona-non-grata =53 (¥ A0 & (F@ TTw-

A) FEdifefam
B) o™
C) T
D) Foaiam

Answer: A) Ao Am

Explanation: Persona-non-grata a%f6 Latin =1 - a7 9% - unacceptable person/person not

welcome. - fAfeameT (afse Tfe ar Tﬁﬁl ©fIm T AFEES o] 7T, OV ©IF AP RO TFN
FAW© I3 THf6 T5I2EF H|

80. Question: (T J@F (TFHMG NI AHA@ "Uniting for peace resolution' 53e 2 f%e-



A) TS Ta

B) T3S &

C) TR-SIFS TG S» b
D) 1S I@

Answer: A) SIS Ja

Explanation: $>¢o ST © FGTF NG SHTH {10 (FIRT RIGE (F0 I MIT T PFY
IIF SR FE | - 6 NHH AFIE@F 377 (V) @FOREr« a1 AfHfow|

81. Question: FAISTART AT JTHS] AT -

A) 8%
B) ¢o
C) ay
D) @8

Answer: C) @b

Explanation: - J&IIETE WIES SAHE@AF (PISET @ S0 NE FHTSFTREF I1al 8F 2| -
38> T PFORNE TS (AT M AMfAF FATSFTT T1a1 BF 2T |

82. Question: NIF-27 I T SCHT A{fd® 2 fwe-

A) Ao

B) F&@I®

C) IR

D) EF]?SN@(@ 126 Ffee a1 TA®

Answer: B) $F®

Explanation: 736 Fifee $a7 2@®

83. Question: T @ T TG AFHNA FAF T 1T TF AT (CHRAIF S NI T
T5© ATMS 2@ ©F A~

A) Gariev

B) Keldavisk

C) Dasanova
D) Budennovsk



Answer: D) Budennovsk

Explanation: - The Budyonnovsk hospital hostage crisis took place from 14 to 19 June 1995, -
when a group of 80 to 200 Chechen separatists led by Shamil Basayev attacked the southern
Russian city of Budyonnovsk,

84. Question: IRTATNF T (77 ROTF e MaF1a! &GS OTF 13-

A) @
B) = n
C) @b
D) &19®

Answer: D) ®19@ (India)

Explanation: a2 =% fa@ a8 SIS fFed 3@ TFNFCT AFFOT AFFSNE (T | JAHA]
SN NI TIHE F6F IT IE@A (F NI T8 V@i | AFAET fIed [{@ear (3@ 5f9F Toa
T forey|

85. Question: FHISTF RG] IRCCTH AF AFT6 AMFFAT 8 TACH SHe[PeT 3[4 (P e-

A) TR TISTETRAT
B) BB FrTATfer

C) TN 3T

D) *RITNAF FRI6T

Answer: A) (@TRTTAR QISR

Explanation: - SRITXET (SEI@ Fo1 T SIS - IRATCTT NI FITFIOT oG o A (S
PR TRAPTAN (TS| - ST (NG AN ST FN5] FATFOI

86. Question: IRAWCT A (72 A7 THANSH ATH-

A) T8GR

B) ST

C) 3

D) s8fa

Answer: A) SI8@TT



Explanation: - M3fF aft S Sonfe Tom@T T | - IRATECT (A6 ¢o 6 Ofenfe TI®@| -
29 T AT 205> IRATWT TFFF ¢o b TINOT A ST FE (SIS TFT FEF |

87. Question: IR 3fS AfHE® ATY (ST | 2 A5 AT (0T ST e

A) AR YRS

B) wiSpel SNHFIF (TF-Bfe (A F
C) Af&s1a fFra (¥

D) 3TEIF THS (N

Answer: B) afS5el SIESTE (STP-bfe (I
Explanation: - faf6™ sTeea SIMES (RFBN-a7 NIATE SHARIGCT IS (V@ SN BIES f97d =31 -

TS AP TIE PP GO SHHeA 11T SE[F S IRATTCT SNAT T 93 - N S St S
FAF TF TN ANECT TAFPEAFONE IO F7 27|

88. Question: FIFR (V@ HT© MNFET CEATHT SASTHT ATF -

A) ST ShIfer
B) 2511 ©y1fer
C) &t onfer
D) (&5 SyIfer

Answer: B) 151G SyIfer

Explanation: - 1312 (V@ F1fI® Soe13] q1 ©¥Ifel (&3 ©yfel A1 Ifafow | aft G (Serd FIR/RE
SAFES |

89. Question: IRACT TV BT 6F AKE :7-

A) TG STHeR-a

S EIGICERRILIEIG]

C) MY BEAH TG G®

D) TG ARG

Answer: A) SNEGT ST%eR-4

Explanation: IfARNFSIE o 51 517 BF T S8 N NG NSRS 5T AT |

90. Question: 'CooY' BT ST A “E 3 (AR 97 ©SrHET A-



A) ST IR

B) S[TTOTe[T 25T
C) SI_RYER AT
D) I Imee e

Answer: B) WW

Explanation: His piece titled ‘Steps’ has found a permanent place in the Seoul Olympic Park in
Korea."

91. Question: Natural protein 3957 (315 919-

A) Protein-P 53
B) Protein-P 51
C) Protein-P 54
D) Protein-P 49

Answer: The correct answer is:
A) Protein-P 53

Explanation: SIS afNtod e & (anfos 91 sy Je| aft a6 (16RS (@71 FeIETe
(S (TS 1 P-49 1 a6 &6 &7 (@M1 aft (MRT T 8 HIYIT F(|

92. Question: "SI (FFEHAT Iee JINI-

A) FASEIEGS HAOEF ARG

B) GGG A1R1ed A5G

C) FATAEDHS TABGHF 9T FACTAEGS TR1EF AGT e
D) FACAEDBS J2(EF 3 TROTFIEP NG e

Answer: C) FACTAE GG SO HF AT FAGAEDHS A31EP NG =T
Explanation: - 9% (e 56 712{%% AT 3 fod G b IR TS A5G Ao Brrer ze

15T T SIFAT @AT| - SHFAT @AT o2 FATARGS 3 FACTAEBG RS TEIEP AT
3@ FAF| - 97 ATAAF @S HNO3. 3HCI. - aft 2om-F3e1 Felq Y Sae oy |

93. Question: IFSET BT BT QST e 1% M SRS HETS (F SISO (A S
m.

A) s BT



B) wo G
C) s¢ fo1F
D) so fB1F

Answer: B) wo f3G/E

Explanation: Under ideal conditions the pressure of the air at sea level is enough to raise a
column of water 10.3 m (34 ft) in a vertical pipe in which a perfect vacuum has been made.
Source: World Health Organization (WHO) Document on Pumps

94. Question: BATICET TN TowTa-

A) G 8 e

B) (STS% (O 8 (IGT
C) FERG 3 @Il
D) T 8 MO

Answer: C) (F1ARG 3 @@

Explanation: 3 (TREIT TG S0 2% S I 0Te G7 AT TN (BT (ofd FE|

95. Question: T (RIG (HIGT NAF (T ST Taly (TP 27~

A) Sae]
B) f&srsrer
C) #e1

D) o0

Answer: B) feder

Explanation: - INSER P S5 (B (HIOE e (NN A A o1 FTAC | -
PO AR (HIOIF TN 936 SO o] FFAT FAT I I ANV S[SENE §& J | - BT (HioT

TOTG BF FACET ANH (HIGIF N RIF ATF (TNFT T8 @ 7|

96. Question: I (I A -

A) CNECTS RFAT
B) (bTex g Nfer
C) 3G 2
D) M1 e



Answer: B) (61¥F 9

Explanation: - @ (Ne0TH fSOE (P11 16 TF ST T P I AR Y 37 972 - D 7@
SR REE 1T (@ 95 Y@ Tarf 5o 27| - J7 N ST F (7| - ©R Je10 I &1
fAPa SRS HeT| B35z AR, AFTT-71T I |

97. Question: S»»8 WA b fECIFT TSI 2, v>¢ WEF D 952 B 23-

A) FTfeTR
B) *Ifaara
C) af¥a=
D) 8FIF

Answer: B) fe@g

Explanation: S>> o151 3@ 971 (NG e w L@ w b /4 = @3 FIR S Td JTOFR S ¢ FETF ST
NSEERRETIE

98. Question: (Mfer3 BIFT ANTHEF (SN NF JSAEFT IF 2 AT T+, A A1H-

A) La Martini
B) San Hose
C) San Antonio
D) La Zola

Answer: B) San Hose

Explanation: - ‘CISTRGFS aF 4@ SRATSITS SREFNF (157 T (N8’ A7 A(&F oo -
YB80 ST SHIF (RRAF N 93 (FI5T V1@ FE A2 $Do> NN Fef TISTHINF (N3 SRAT 16
FE|

99. Question: FRATECTT STAMTTIS TH Fl Jue] AT 27 -

A) ¢ (3, 5228

B) b affe, 558

C) a (¥, Saa¢

D) ¢ (7, v23¢

Answer: B) & afse, 3558

Explanation: IRATGCTT SIS0 ST Fef T0T FAT I - € (F, S| TR (FGIT (ST Terey



(T4 9330 — STeE, CIFT1| - IRTACT FANF TG (F°4 - T SN |

100. Question: ) IRTGCTT 936 Si9g SIACAT -

A) GIT (RS

B) SIS

C) PriifereTg® smfes
D) TS FIFGT

Answer: B) sT319

Explanatlon - 18 FIFC] (@'ﬂﬂsl?lwq PIPC] AT NSTH FFTI) TP T6F FIF0] 73 07 FGH
SfR® NN TR ARG | - 987 Xiphosura (M1, xiphos, SETRE 43k uros, (715) el

TG |




